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mnstructions : 1. Check the question paper for fairness of printing. If th,ere is any lack of fairness,
inform the Hall supervisor.

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.

GOl : BaielTSS16T B6t @ Lfleysmend; Qe g
Note : This question paper contains’four‘parts _
U@# 1/ PART I
giiy: (i) Heidg eferésend@n ol wefdsayn. L4

(i) LBEayLD @un@g;g,mnm oS?a)Luﬂsnm Gg,gg,@g,@_ssg,f g;g,a‘a'r @Lrj?uﬁ_@‘t_m

aflenL_uflenerifLb TS5 il & £

Note: (i) Answer all the questlons S 12 x 1!12‘

(ii) Choose the most suitable answer and write the code wsth the correspondmg answer.

1. semISBTHS 6TEOTLSI

) 2_HBLrHml afg A etk * o) aflews wpg:w BT m:r;_r)p sﬁg,w WS
@) 265 wrrp;nw _ :’ r‘ - 'FF) ﬁmp a?ﬁ Lsrrpg)w i '
hnpulselsthe e e 1y '_ i
Ia) rate of change of momentum il __b) rate of change ef force and time . _
¢) change of momentum h d) rate of change of mass. . .
2. @@ QummemsT G}ajuuuu@gﬂmwcmm :giausugu @6Tﬂlrﬂﬂ;5ﬁﬂ'(360ﬂ' a;u@un-@aﬂm
) aig,q,,;,%@m” TS Y. Qi,) @mmuw e
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;fa.l substance 18 WA il b) decreases .
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3. gefl o miHd Grdgis HmsGusd STIHS FpssrTEtd euLStinme @m‘lg
sufienzullsy suflenal) LB SIS, .
3)) srhy > semenTry > B ) Fi > &Y >.assmmrrrq.
@) serenmrg < BiF < sTDM ) seirenvIid " Fr >arhp
Arrange the following media in descending order 0n the basis of speed of sound

ir > glass
a) air > glass > water B e
¢) glass < water < air d) glass= W

4. &pmeir_subhpisT sTHI QpaIgT préw?

o) GepECuray o) afallud @) sriusroLBEmED ) DAL gy
Which of the following is a triatomic molecule? "
a) Glucose b) Helium ¢) Carbon dioxide d) Hydrogen

. sefluiisafisr pafar gaisser oy susnamruflsd Gapugsit GEDUS SRk g

...... Qs rgdlemws Crpsmal

=) 1Taugm =) 150151 @) 18euzy ) 16sug iy
In modemn periodic table of elements group contains the clenmts:f halogen family,
a)17" b) 15% Q188 d)16

6. wremreui o Hfelud GFiwpsD Gfrﬁmsﬂ:rlfkit Burg ﬁi_(hmm
mapC rréma® @mhsuTiigena uwaTu @GS Lﬂwn..arn_‘q,a‘»w iﬁ'pg@g masy
ol @F GeermallLmi. Awprisisfiss a;surram?ﬁuun_quu . 2.fiy
CrradwCurg FHangald Bnps Cerguid m;mia'wsmfm@ G;.Frrmm ﬂn
angelley @@iumsl urisgri. Gsparar sy Grrigwid HADLTTEmaysS

............. LIGHSTL] (& 1D.
=) Frbe PlgsfEsmrss) ) Frive_flessse
@) FiEssbemL B0 F)Uf s wenL g

While doing a science practical experiment, a student left a bottle opened aﬂcrlfsa
contained solid sodium hydroxide. When the student visited the laboratory again

¢) Dehydration d) Dissociation
7. wed sumiiumi 1367 Sy liueLul gweds sreTliuLng useuens ____———
&) Eemsumill us) \

days and found only liquid sodium hydroxide in the bottle. This is due to ........
of sodium hydroxide.

a) Hygroscopic b) Deliguescence

o) WwiTEmLeuri L)

@) et Bib L ) Garepris sy
According to the dental formula -~ kind of teeth is absent in rabbit.
&) molar b) pre-molar ©) incisor d) canine
8. wafls apmarule) L5E wwwrss qué:u@ﬁ; ug#
o) ursTs =) Sorisiy @) Ql-l@u,omw L 4}
142

Note :
@iiny: () oGsayn 7 alammdsene da weflbsayb.

The part of human brain which g

5 as relay centre is
a) pons

‘ . ¢) cerebrum d) cerebellum

9. waElipd WETBSE grefsr e Hugd) Qadaisy B Glupih Blsiiifse suens
) UL o) usrfsrp
The type of cell division aceurs jn

b) thalamus

@) smwlLrdflav &) oy, whmid @

generative cell of mature podlen grain

a) witosis b) Mciosis ©) Amitosis dyboth b and ¢
10, BT e ullf Ot u s safl e ETRGmE syflw o_sayb Apdiurer sHEUTBL peoD
&) GryBur STirust gany

=) yGresflund - srfw wpsom
@) QurlLrdlui - syisrer won =) B eHmnd &)
The best way of direct dating of fossils of recent origin is.....
a) radio-carbon method

: b) uranium-lead method
¢) potassium-argon method

d) both a and ¢
e ewa ymsullas sty fems
=) G 3 ) 279687 6 @) eriarsiy 22 F) HysGLrui 2
World 'No Tobacco Day' is observed on
a)May 31 b) June 6 ¢) April 22 d) October 2

12. dpssramumghoudr fred (script) o mardsuuwsiiu@aus: sis ?

=) Script area =) Block palette  (3)) Stage ) Sprite’

which of the following is used to build scripts? f

a) Script area b) Block palette ¢} stage d) sprite
ugs 11/ PART II

(i) Answer any seven questions: (Q. No.22 is compulsory) Tx2=14

(ii) (sflan eretar 2248 su'Lmunona Lideveldsayto)
13. suremin syt v Hpurss Carermdng?
Why does the sky appear blue in colour?
4. Bupes whp  QEwpmEE sffwsssdar aGsgd @revE usmymmer
TSI 7 -
Write any two features ufimmld and artificial radio activity?
15, er wppun uferr Gaugallmsraaman Gagu@sss.
Distinguish between reversible and irreversible chemical reactions.
18, Edsaim Gairwihiseflsr STTUST Faidledl Gprdiar gyemwlniar o lusufls
WDELLGEH ol Tl ey SIS
) yraGussr (i) Queirdsir
the pa
Classify the following compounds based on 16 P
Structural formula:
(i) Propane (if) Benzen¢

tiern of carbon chain aqd give. thelir
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7. aursigeur shemm steimred srsiren?
What is vascular bundle? ) )
18. ;:‘:fff &sflsd amEr L iwrerg @I emLF sHEDT ot ere dmb"*ﬁﬂu@&m&
Why is circulation in man referred to as ‘Double Circulation'?
19, ULSHG o srer puIL LTHSSITET GDPUTL QM SHDLUWTMD Sreing)
sT6iT sy ADE?
Identify the disorder with which the person shown in the figure is suffering
20. sreurmsst wppih aflwigsafia wilarming lensy FTSHTSTHTE 6T6ir
sBsOLEHEADS?
Why is Euploidy considered to be advantageous 1o both plants and animals?
21. e ullfl surwenauls LweTLE S5I0S5T 5sirmmasairun'mm?
‘What are the advantages of using biogas?
22. flsi gred) peirmy 1.8 Pall? wGésssar S0y patdng sreaflsd 50 el Peny
GasreTL ualisi seususrey Ggrhm srenLufleper o_auritauri?
A lift is moving downwards with an acceleration of 1.8 ms™. What is apparent weight

realised by aman of mass 50 kg?
ugg I/ PART HI
@ity : () gGsgub 7 cflcandaende el weldsab.
(i) (afem eredsr 3245 &L MuLHTS vleverldsan)
Note:  Answer any seven questions: (Q. No.32is compulsory)

Tx4=28

23. QurmssIs
ugd | ugg |l
o)) By _sifleir gppevallz) i) rrEQsL sy edlss LwsTUGHDS!-
24) Py v aér Graiwiris 18] i) Qurgpi-sefeir siwoBowe "
@) Pucafer gerprioalg i) alensulei o
=) (;g,ri-&-,(:}.srn'_@ V) upear Lupsselae LweTLGEEDS!
2_psoyfiallsranoais)
Match the following
Column |
a. Newton’s I law

i) propulsion of a rocket e
i) Stable equilibrium of 2 body ;

iif) Law of force !
iv) Flying nature of bird

b. Newton's I1 law
c. Newton's ITT law

d. Law of conservation of Linear momentym

i
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24. 1) perallflad wemain U,
; K Qeut’ ;
0 :}; CONIBDIG 5 sygyiaiu ey Forid 50 i eraids oypenar 323
ulUElema s, @mﬁuﬁu@égfn Gurg) szt Fmse ehu@io

wrppSAmen Somid 0. | oygnfeupsgler fereffoyd Gemsin 23X 105K )
i) Define : Co-cfficient of linear expansion,

il

j"‘c 1"”311‘ of an aluminium roqd at the temperature 303 K is 50m, What would be its
increase in length when itis heated to 323 K. 7 ( The linear co -efficient of Aluminium is

23%10°K™)
2. 1) sg@rTsd Galusiies Comauirer Grein® Pupsmersmas awmis.
il) s AQrrsilulleir wmssions Lusrssr Bramgenerd s
i) State two necessary conditions for hearing an echo.
ii ) What are the two medical applications of echo?
26. i) wBwrafluralsd o_ser mpc ramer mallsitesafs @mumus sarsdds.
i) A srsitugyQusitaflullsir Qausimenio Gursitn o Garsi, A oz 'O 2 L ar800°C
uisvallenarflis Gsrwn B enuw 2 Faursgang,. A ullst = Cursdsasnar
aflorarsgleTursdisatsiuinudruGans A wnmh B mésain s
i) Caleculate the percentage of nitrogen atom in ammonia molecule.

ii) A is asilvery white metal. A reacts with O, at 800°Cto form compound B. The alloy of A
is used in making aircraft parts. Identify A and B.

27, i) £pssanBsrer sred umEsi palardanssh proRssseT  HHns
3 Sraugdiamuyy o) Hrap i glammon
i) 1.0 x 10* Gursuri@sglaysiver HNO3 senreafisir pH wflismus ssrsdfs
i) Give an example for cach kind of solution given.
a) gas in liquid b) solid in liquid.
if) Calculate the pH valueof 1.0 x 10™ molar solution of HNO;,
B i) ot pQaw ofsir Adiens wppid GersQsd air Adsmsou CupiuGsss.
i) HIV ureudssnqu usvoGams anflsmand & pis.

i) Distinguish between somiatic gene therapy “T'd‘g o poik:ﬁ R
i) What are the various routes by which transmission s i

takes place ?
X3, penarufler uaflmensT vl queld®s.
List out the functions of brain.

i) Sy eni srsiaurm saurfadpsl ? _.

30, " ik
L prasriissis) w-Bib peoLGLDn 57

i) oo GariiQussd T GBI
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10th Science

1) How does leech respire?

ii) Why is vegetative propagation practiced for growing some types of plants?

3. v aILTEd Freurtissts srausurg pml_@UDNﬂDJQ'?

How does fossilization occur in plants?

32, 1) daraumnd s pmisefdphs  saflvauflos S L uenmTllel . oy, Thgs
Qsrpdomus Coipame aaeb HFEsTEHMLE Ceihs aGnemin "’."3
Henwhssier GuwismsTs &ms.

o1 @bss Careds sefluissisr sjabse NsD AMOUTET swa
Sjenwiemus Glsream_amsu.
2. Qibsd Os1eHs sauiiss Quaiurgid Eagl allmarsaild =@ugay
Esvemev.
i) =5Gsmer ol mHHer aflmergpsr 045z, aer?

i) From the following clues identify the group number in the periodic table and write the
names of any two elements of that group.

a. The atoms of this group have very stable electronic configuration
b. These elements are mostly unreactive

il) 'Why ethene is more reactive than ethane?

ugd TV
: PART IV
@iiy: ) s alamdsaie dletwefldsayb.
i) Gaa aflemnelihEto erap Lol G st seir
i) Gaevanumss G hseamed UL Lb aienya.
Note *

i) Amnswer all the questions
ii) Each question carries seven marks.
iii) Draw the diagram wherever necessary.
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A,

. n5 .

jii) 92 U ST, ;
ydsrs Lgﬂ,‘?ﬁ &;E:’”"’é_‘ P Spdur é]s»gaﬂﬁ.g o Lu@dps stafis
HeTTHSE 5. Lagallar Dur rrsrasfer  sremrenllsm s

i) An Object AB is placed g qpe
picture. Complete the ray dias::ﬂ‘- of curvature C of the convex lens as shown in the

¢

ii) A Student in a class room can read
the black board distinctly Write

fext book but he/ she can't able to see the letters on
Suggest a remedy.

the name of his'her eye defect and what is the cause?

s .
fii) o2 U ™ experiences one o decay. Find the number of neutrons in

the final
nucleus that is formed. ¢ final daughter

(01 (spsomz)
) WerBarmiiLib eTeirmmdd ereiran?
i) s @arTiL ST sems ey,
iii) enGarri Lo srpsamelulsrpaib sral_yiui? sysmer 9
isira e eTsusury) Gemends Cusin@i?
iv) LED aflsn&dlsir paraniomar aG5gIb @7eimgemens s pis
1) . What is meant by electric current?
ii) Define the unit of electric current.

iii) Which instrument is used to measure the electric currem? How should it be connected in
a circuit?

iv) List any two merits of LED bulb_ A
) Assrp o Garssder it grer iy 28,181 s@0. o Guran A gyers
sri) whps erOUBHEPE - LuBpED GursB adp uineklp Grhupos
; o Garst A ST HzS0s oL st allvaryfipg Geiwdssr C
-Ouraodps: aryPmes Criob syse. A B, C
whms D g L@mn’&(ﬁﬁﬂg'-n e
LpHpinD g fuspeps G CHGO. SyFe _OH @preHilien
i) gir gasanrdar YRsmD o :
B erein 2. @ gPLUEATOI

A S,
) soLw s & L i
DT

ﬂwn‘l’lﬂ@ﬁ&'
s st IUPAC Guw QaTioLoT sTRT STILHIE.
%) 9iEGriopd 3 G557 giowg JDHDTS
B) 5éGsiwp™P




i)

ii)

34B. i)

35A.

ii)

1)

ii

—

. 4

The electronic configuration of metal A is 2.8,18.1. Metal A when exposed aip
4 B. A reacts with conH,80, ¢, ;@

moisture forms a green coloured compoun to g
compounds C and D along with water. D isa gascous compound. ldentify A;B ¢ and

The molecular formula of an alcohol is CyHigO. The locant number of its ~OH grq,,, isy
From these details

(a) Draw its structural formula.

(b) Write its IUPAC name.
(¢) Write whether it is a saturated compound or an unsaturated compound?

(or) (o)
SEWMIFLST 2_(HeuTHeY Gl Spssrad DD BTG 26

"PSSHMTLILITEITE ST PHSHENT G]|.J|r1-q_r,,-,nm.i

hq
§

sTREHESTLHLT  aflors5s.

SMIESSTDET
Seiraupid Gaudlallenaraener ,gmissar @iyl SDUBIST Djig Iuen g,
amstuBEE 2_wg aloamw Huruiubsss.

2 KCl10, —» 2KCI+30,

Zn + CuS0;4 — 7n804+Cu

2Mg + O, —* 2Mg0O

Na,S0,4 + BaCl, ——— BaS04+2NaCl

Analyse the following statement about the formation of solutions and explain with an
example. “Like solvents dissolveLike solutes”

Classify the following chemical reactions basecl on rearrangement of atoms and justify
Your answer. "

2 KCIO; , 2KCl+30, |

Zn + CuSO4 — s  ZnSO4+Cu

Mg+ 0, -, 2Mgo "

Na;S04 + BaCl, ———»  BaSO4+ 2NaCl

FOUTF FEY - QUEHTIWID &5,
G L_13. EMTEY STEHTMTE) 6TsbT60r7?
mﬂwm@e;srﬂw swilar of flwgHer aﬂmmﬂ*ﬁm Witena?

Define respiratory quotient.
What is cohesion?

What are the effects of hybrid vigour in animals?

(OR) (spivevg;)

14%

ii)

i1)

3R WD STHD T ergiygy?

2) l;;;: @;;;u:?sb B pefleh i.creir.or.alsir @ rain® G)enypsemeriyid

) BICBOUTES oo GuGe o drer @ries s@mert UMssr,
PDESEDSen 57 ;ga;@m G’ﬁ”’sﬁ

@) PwseNCuren Haemer Crirdgib Gmrd)

) 1q.6TeT.6T.aflsir SMPswar  perplensrési uwsiTu@BD  GOmHrd

e) @:ra_u}uurr;w Semsuullgir @ U185 %15 (5110 sreoTm @)L SFle0

sHI5G 0 Gurg Brigiurgs GyaumL_£ps.
What is 3R approach?

a. In DNA replication, the enzyme that separates the two strands of DNA is
b. Enzyme that removes the twists formed during the unwinding process of DNA is

c. Nucleotides are added with the help of an enzyme called
d. The DNA fragments are joined together by the enzyme
e. The replication stops when the replication fork of the two sides meet at the site called
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